
Subject: Re: Pooled Survey MeLogit Syntax Query
Posted by Bridgette-DHS on Wed, 27 Jul 2016 20:56:17 GMT
View Forum Message <> Reply to Message

Following is another response from Shireen Assaf:

In fact if you use svy for your model you do not need to add the [pw=weight] as well as the
weights are added in the svyset. For the svyset instead of v005 I would put the weight variable
you generated from v005/1000000. This will not make a difference I suspect. Yes I think it does
not converge due to the small number of surveys you have. You can proceed with meta analysis
or simply use an svy: logistic model with i.survey dummy with no constant. If you use the logistic
model the svyset would be the one you specified in your first post with only one weight.
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